SGLOZ MHY €-1 V S ¥ 096€ VLM

ZV/WE

A-A

3/ "

A-A o525
40 Mo ®6H1 i 05F1 Lo.02 Lo Lo.02
— INNHNNN SN e A Th 4
: INNNj KNI !
] N‘ ' 1 G | | | Al
) = ' ] o] T T T T T T
{ ! ! xl ! #55 \_J‘l,
91 30 15
100
34 Ll _;? 24 31 "
i B B-B
™ T —
6—©¢ r ©\° |G O\ A | =
~= . 55 5
_ 2T e o 0%, £2
Z} & , 70:0.05
g sEAT-+—=R—ft-—1+—1—L8—— - H—-—-— =
;: }_ ki ol § 1] ko2
= H\ 3
51 Ll N
b T | | ! e
& 1000 © | @r@ o
—— 1 A Fany -
“ . ! T ¢ ®e =
— !
£ ! % B ; ] g
- [N ‘ﬁ;}zﬁl 1200.01 41 [AA B
10 RARIEMF42 RS 108 #%:K 58+2 HRC
Rz 16 Rz 16 Rz 16
R s TR X o x v "
o M6 X 1 N S 20-0.1/-0.2
S A SN O
1 1 1
P T 5 B ! i/jt_ ! .
‘ i I~ : N | g
3 g ko2 w5i005_ 2 : 2
- 6.6 ! 1 & ‘ A
£, )
S T “ sl | |
| i l = @13 28
0.0 £2-0.05 ‘(é[ﬁ | V{[ﬁ“ ‘
2 10 g ‘ } i i qF ‘
i 1
. 1 » T N 6@
5 (OO i ! | 1 I
]w @ : | R TEVEEC: AR A A L ) !

K 58+2 HRC

48

647

¥k 58+2 HRC

42-0.1/-02

AHK Sl im 1 - 20154 i

Hl EEVT T )
INTHEAR FF5: 2060010653

A

1S0 2768+ *




GLOZ MHY €-1 V 9 ¥M 096€ 1M

$32d9

'

|

'

|
M24x1.5

L <
-
>
-
10
16
56

79

b

A-A v/m
/ Rz 16
11 ’ N 815 B6HT 12
i K<TTT;7 i i i i A“A
| RIZE £l :
- &
®5HT 815 M6 - |
9 |
8:+0.1
34 18
F\ /\ 35 34 18
> @
N A
: ¢ G OF
s O Sy .
g 35 3| = A}— H—-——-—t $ /
o 5 A 3 I
& \___ %
© © 4 +=zh AN I
o |
! Ay
70+0.1 11:0.05| _15H7 {} D
94,+0.05
9% 424402 10.8-02
120
L4 @6HT 120£0.01 105-0.2/-0.4
160
Rz 16
16 vV
& DIN 76-A

IR BRI E )

AHK #5551 365 - 20154

o |EENWT
MTHA

A%
IS0 2768+




2

% 16 !
|, =2
é 23 ]
e NN NN NN
13 %E % ,./‘ | i
—» = Y
12!\ zEJ\\\ | ::_Z____I—/ﬁ
s—— T oo
7/ l N i \
20— _|
e ; / !
ML, A AR \
O O
5 & S )

T+ +o © 0%

i
40+0.2/+0.1

B

4
=

TAF

15-05

40-0.1

__H__H__,

AT

s PRARAS A% Lo i !
T DCOT-A 31 | BLOS x 40 x 300 EN 10131 (T.1D)
L | R 6x32-A IS0 8735 | St 30
8 | Bk 6x20-A IS0 8735 | St 29
| JFHACLAMEET Méx25 DIN 923 58 28
L | Mix6 150 1207 L8 21
L | M6x30 DIN798, | 88 2%
3 M6xL5 IS04762 | 88 25
L M6x30 IS0 4762 | 88 2,
L M6x20 IS0 4762 | 88 23
6 M4x20 IS0 4762 | 88 2
7 2x10x38,5 DIN 2098 | sisiin 21 | if=85
5 1,6x12,5%36 DIN 2098 | il 20 | if=55
3 D5x60 DIN 9861 | Hurliy 19 | #EH16 m
2 BG20x37 DIN 9831 | 16MnCrS 18
2 L20x125 DIN 9825 | C60E T
1 DINISO 10242] C45 16 | RJ32x 19
1 5x20-A 1508734 | St BREE]
1] 90MnCrv8 14 | FL64 x 15 x 51
1 S0MnCrV8 13 | FLAZx 20 x 45
1 T4SE 12 | FLBO x 16 x 105 EN 10278
1| R S3550R 11| FLBO 16 x 160 EN 10278
1| 102C6 10 | FLBO x 16 x 160 EN 10278
1| E#R S2T5R 9 | FL125 x 25 x 176 EN 10025
[HET DCOT-A 8 | BL2 x 40 x 80 EN 10131
R CLSE 7 | FLL2x28x395
[ C15E § | FL20 x 8 x 145 EN 10278
1| ARSR C15E 5 | FL20 x 8 x 145 EN 10278
1| e X210CrW15 4 | FLBO x 16 x 49 EN 10278
R X210CrW12 3 | FL8O x 16 x 108 EN 10278
[T S355R 2 | FL80 x 25 160 EN 10278
1] FER S2750R T | FL125 x 25 x 176 EN 10025
1H¥| A it EZE: AEA 2R (bR 4637 )

AHK el #am1imss - 201648

HiE
I

GO =

RENMT
JINE;ZN

T 13)

0000010636




